OUR OWN HIGH SCHOOL, AL WARQA’A, DUBAI

GRADE: X  –  LINEAR EQUATIONS IN TWO VARIABLES

ASSIGNMENT   1

1. Solve 2x + 3y = 11  and 2x – 4y = – 24  and hence find the value of ‘m’ for which y = mx + 3.
2. Solve 3x – 5y – 4 = 0 and 9x = 2y + 7 by substitution method.
3. Solve: 31x + 23y = 39, 23x + 31y = 15
4. Solve:  
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5. Solve   x – 3y – 7 = 0  and  3x – 3y – 15 = 0 by the method of cross multiplication. 
ASSIGNMENT  2

1. Find the values of  a  and  b  for which the following pair of linear equations have an infinite number of solutions:
2x + 3y = 7;   (a – b)x + (a  + b)y = 3a + b – 2 

2. Find the value of  k  for which the following pair of linear equations  have no solutions:

3x + y = 1;   (2k – 1)x + (k – 1)y = 2k + 1

3. A man travels 370 km partly by train and partly by car. If he travels 250 km by train and the rest by car, it takes him 4 hours. But, if he travels 130 km by train and the rest by car, he takes 18 minutes longer. Find the speed of the train and that of the car.

4. The monthly incomes of A and B are in the ratio 9 : 7 and their  monthly expenditures are in the ratio 4 : 3. If each saves Rs. 1600 per month, find, the monthly income of each.

5. A man sold a chair and a table for Rs. 760 thereby making a profit of 25% on a chair and 10% on a table. By selling them together for          Rs. 767.50, he would have made a profit of 10% on the chair and 25% on the table. Find the cost prize of each.

6. A boat goes 12 km upstream and 40 km downstream in 8 hours. It can go 16 km upstream and 32 km downstream in the same time. Find the speed of the boat in still water and the speed of the stream.
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ASSIGNMENT  3

1. Solve graphically the following system of linear equations : 

2x + 3y – 12 = 0; 2x – y – 4 = 0

Also, find the co-ordinates of the points where the lines meet the y-axis.

2. Draw the graphs of the following equations:

2x – y – 2 = 0; 4x + 3y – 24 = 0  and  y + 4 = 0

Obtain the co-ordinates of the vertices of the triangle so obtained. Also, determine its area.

3. Determine graphically the vertices of the triangle , the equations of whose sides are given below:

2y – x  = 8; 5y – x = 14  and y – 2x = 1

4. 5 pencils and 7 pens together cost Rs. 50, whereas 7 pencils and 5 pens together cost Rs. 46. Form the pair of linear equations and find the cost of one pencil and a pen graphically.

5. Five years hence, father’s age will be three times the age of his son. Five years ago, father was seven times as old as his son. Form the pair of linear equations and find their present ages graphically.

ANSWERS

ASSIGNMENT   1
1.  x =  – 2, y = 5, m =  – 1       2.  x = 9/13, y = – 5/13      3.  x =  2, y =  – 1      4.  x =  4, y =  5
5.  x = 4, y =  – 1    

ASSIGNMENT   2

 1.  a = 5,  b = 1       2.  k = 2     3.  100 km/h,  80 km/h     4.  Rs. 14400,  Rs. 11200    

 5.  Rs. 300, Rs. 350    6.  6 km/h,  2 km/h
ASSIGNMENT  3

1.  x = 3, y = 2, (0, 4), (0, – 4)     2. x = 3, y = 4, (3, 4), (– 1, – 4), (9, – 4)   3.  (1, 3), (–4, 2), (2, 5)
4.  Rs. 3, Rs. 5      5.  40 years,  10 years
************
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